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Here’s How...Notes & Examples
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You Try

Vertical Line Test

ifferent Ways to
epresent a Function

Example

Ordered Pairs

Table of Values

Given the following relations, which ones are functions?

1 {(O 1), (1 4),(2,5),(3,7)} 2.{(—=2,0),(—1,0),(0,0),(1,0)} 3.{(0,—1),(0,3),(1,2),(3,2.
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Use a vertical line on a graph to see if it is a function. If the vertical line

passes through only 1 point, then it is a function.
Which of the following are functions, and which are not?
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A car gets 28 miles per gallon. The distance is a function of the number of
llons of gas.
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/ We Try In one hour of walking, you burn 257 calories. The total number of calories is a
: - function of the number of hours you walked. Represent this function in 4
\\/H different ways.
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You Try
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You can make 2 dozen cookies with é stick of butter. The number of cookies is
a function of butter. Represent this function in 4 ways with butter as the

input and cookies as the output.
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